FHB20210)FFE KEHET HKHHOKDKE(EKESESE)

[BExEH4A] [(BXEH4A] [BxEH4]

29 - 001 Z£RE 29 - 001 Z£RE 29 - 002 =RE

=R =R AFEBILT

[#Ki;H4&] 01 - 00 [§Kiz&] 02 - 00 [%Ki;H4&] 01 - 00

RiEHKIG fkr Ei%KiE L B8R LU %K S

BEIEH [KiR&] [KiE&] [kiFE&]

b =31 wEII-88I EHEK

[FkDFE$E] [FRKDFELE] Rk DFEEE]

EIN it S LR EFFK

[1BFEHKE] 7,975 (m) |1 BE#%KE] 93,653 (m) |[1HEH%KE] 4,330 (m)

HoKimH OK HoKiEH O K HoKimH OK

) =IE T E1% bl =xIE Ty B3 ) =IE T Ik

PUFEVRUEZDILE <0.0010  <0.0010  <0.0010 12 <0.0010  <0.0010  <0.0010 12 <0.0010 1
ISVRUEDIEEY <0.0001  <0.0001  <0.0001 12 <0.0001  <0.0001 <0.0001 12 <0.0001 1
29TV RUZDIEEH <0.001 <0.001 <0.001 12 <0.001 <0.001 <0.001 12 <0.001 1
1,2—9HOAIaY <0.0001  <0.0001  <0.0001 4 <0.0001  <0.0001 <0.0001 4 <0.0004 1
LTy <0010 <0010 <0.010 4 <0010  <0.010 <0.010 4 <0.001 1
TRIVEES 2—TIFIAFII) <0.008  <0.008 <0.008 4 <0008  <0.008 <0.008 4 <0.002 1
HIERE <0.06 1
ZELER <0.06 1
ybonre b= 0.002 0.001 0.002 4 0002  <0.001 0.001 4 <0.001 1
fkoo3-Ib 0.005 0.003 0.004 4 0.003 0.001 0.002 4 <0.001 1
L E35 <0.10 <0.10 <0.10 3 0.10 <0.10 <0.10 3
HREBIER 1.6 09 1.1 50 1.3 0.8 1.0 52 0.9 1
SR 35 18 24 4 3.1 18 24 4 16.7 1
1,1,1—tyhonI4ay <0010 <0010 <0.010 4 <0010 <0010 <0.010 4 <0.001 1
AFI—t—=FFII—FI (MTBE) <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4 <0.001 1
AMEGBIVH VBN LEEE) 29 14 20 50 30 15 2.1 52 0.6 1
R SR5&E (TON) 3 3 3 4 3 2 2 4 1 1
BRI GYTUTES) -1.3 -19 -1.7 4 -1.4 -1.9 -16 -0.9 1
HEREEMR 2 0 0 12 2 0 0 12 0 1
1,1—9HOAIFLY <00100  <0.0100  <0.0100 4 <0.0100 <0.0100  <0.0100 <0.0010 1
RIINAOADE AN EEPFOS)RUAI INAOA DI R E(PFOA) 0.000015 0.000007 0.000010 4 0.000009 0.000005 0.000007 4
JKig(°C) 28.2 25 16.3 50 27.0 53 15.8 52 220 16.0 19.2 12
PUEITREER
EMILFRIBRERE(BOD)
LB RERE(COD)
LSMRUVIR I E (50mmtz )L FREE)
FEYE(SS)
BRI R
LER
DY)
VVEEATY
FINOAR YA R BE
£ (n/ml)
FIHUE 36.0 205 28.2 50 326 246 28.1 52 92,0 86.0 90.0 12
BEBRE
B AY 14.4 5.0 78 12

BETAEE




FHB20210)FFE KEHET HKHHOKDKE(EKESESE)

[BExEH4A] [(BXEH4A] [BxEH4]
29 - 002 Z£RE 29 - 003 Z£RE 29 - 003 ZERE
ARFOEBILTH BEmM IR
[#Ki;H4&] 02 - 00 [&/KkZm4&] 03 - 00 [%Ki;H4] 05 - 00
RBF0 KIS INBRER K Hh —ETER Kt
BEIEH [KiR&] [KiE&] [kiFE&]
FRHPK, REKE RREEKEZK ZREEKERZK
[FkDFE$E] [FRKDFELE] Rk DFEEE]
EIHF K- HKZK #IKZK HIKFEK
[1BFEHKE] 11,053 (m) |[1 B F 5K E] (M) [[1BF9:%KE] ()
HoKimH OK HoKiEH O K HoKimH OK
) =IE T E1% bl =xIE Ty B3 ) =IE T Ik
TUFEVRUEDILEY <0.0010 1
DIV RUEDILEY <0.0001 1
ZITIVRUZOIEED <0.001 1
1,2—YhOnIsYy <0.0004 1 <0.0004 <0.0004  <0.0004 12 <0.0004  <0.0004 <0.0004 12
LTy <0.001 1 <0.001 <0.001 <0.001 12 <0.001 <0.001 <0.001 12
TRVEEY 2—IFIAFIIL) <0.002 1
HIERE <0.06 1 <0.06 <0.06 <0.06 12 <0.06 <0.06 <0.06 12
ZELER <0.06 1
Jhnoye b= ML 0.003 1
faKH05-Ib 0.004 1
HREBIER 1.4 1 09 0.8 0.9 12 1.0 0.8 0.9 12
SR 838 1
1,1,1—kHoonIay <0.001 1 <0.001 <0.001 <0.001 12 <0.001 <0.001 <0.001 12
AFI—t=TFII-TIL (MTBE) <0.001 1
HHMEGRBI VA VBN LEER) 1.7 1
R SR5&E (TON) 1 1
BRI GYTUTES) -1.0 1
HEREEMR 0 1
1.1—=YHOAIFLY <0.0010 1 <0.0010  <0.0010  <0.0010 12 <0.0010  <0.0010 <0.0010 12
ANINADADEY AN KV EE(PFOS) RUALINATADE Y ALk EE(PFOA)
JKig (°C) 26.0 10.0 18.9 12
TPUEZTREER
EMILFRIBRERE(BOD)
LB RERE(COD)
LSMRUVIR I E (50mmtz )L FREE)
FEYE(SS)
BRI R
L2EX
DV
VVEEATY
FINOAR YA R BE
£ (n/ml)
TILHVE 99.0 71.0 92.0 12
BEBRE
B AY 8.4 5.4 6.4 12
BT




FHB20210)FFE KEHET HKHHOKDKE(EKESESE)

[BExEH4A] [(BXEH4A] [BxEH4]
29 - 003 Z£RE 29 - 004 Z£RE 29 - 005 Z=RE
BREM KiEHE™ REH
[#Ki;H4&] 07 - 00 [§Kiz&] 01 - 00 [%Ki;H4&] 01 - 00
BigEKiE RERERKEG BHEKE
BEIEH [KiR&] [KiE&] [kiFE&]
ZREEKERK ZREREKE KFNKRMENI
[FkDFE$E] [FRKDFELE] Rk DFEEE]
# KK #IKZK SLE#%
[1BFEHKE] (m) |[1BF9%KE] (M) [[1BF9:%KE] 9,305 (m)
HoKimH OK HoKiEH O K HoKimH OK
) =IE T E1% bl =xIE Ty B3 ) =IE T Ik
PUOFEVRUZVILEY <0.0020  <0.0020  <0.0020 2
ISVRUEDIEEY <0.0002  <0.0002 <0.0002 2
29TV RUZDIEEH <0.001 <0.001 <0.001 2
1,2—9HOAIaY <0.0004  <0.0004  <0.0004 9 <0.0004  <0.0004  <0.0004 2
LTy <0.001 <0.001 <0.001 9 <0.020 <0.020 <0.020 2
TRVEEY 2—IFIAFIIL) <0.008 <0.008 <0.008 2
HIERE <0.06 <0.06 <0.06 9
ZEEiER
ybonre b= 0.002 0.001 0.002 2
faKH05-Ib 0.003 0.002 0.003 2
REE <0.10 <0.10 <0.10 2
HREBIER 1.0 0.7 038 9 08 0.8 0.8 2
SR 4.0 4.0 40 2
1,1,1—tyhonI4ay <0.001 <0.001 <0.001 9 <0.030 <0.030 <0.030 2
HAFI—t—FFII—TIL(MTBE) <0.002 <0.002 <0.002 2
AMEGBIVH VBN LEEE) 33 30 32 2
R SR5&E (TON) 1 1 1 2
BRI GYTUTES) -1.4 -1.4 -14 2
HEREEMR 0 0 0 2
1,1—9HOAIFLY <0.0010  <0.0010  <0.0010 9 <00010  <0.0010  <0.0010 2
ANINADADEY AN KV EE(PFOS) RUALINATADE Y ALk EE(PFOA)
JKig (°C) 25.1 5.2 15.7 12
TPUEZTREER
EMILFRIBRERE(BOD)
LB RERE(COD)
LSMRUVIR I E (50mmtz )L FREE)
FEYE(SS)
BRI R
LER
DY)
VVEEATY
FINOAR YA R BE
£ (n/ml)
TILHVE
BEBRE
ERAAY
BT




FHB20210)FFE KEHET HKHHOKDKE(EKESESE)

[BExEH4A] [(BXEH4A] [BxEH4]
29 - 005 Z£RE 29 - 006 Z£RE 29 - 008 ZERE
ESE0 Bt i
[#Ki;H4&] 02 - 00 [§Kiz&] 01 - 00 [$Ki;Z4&] 02 - 00
Wz Ri%KE Shli%KE Hi7E % K5
BEIEH [KiR&] [KiE&] [kiFE&]
RHEF EEEM. HF. KFIIKR IEIEVIS
[FR/kDFEE] [FRkDiELE] [FR/kNDFELE]
EHFEK MBK-RFFK-ZHFK EHPK-ZBHFK
[1BFEHKE] 3,200 (m) |[1BE#%KE] 8,289 (m) |[1 BEg4%/KE] 1,564 (m)
HoKimH OK HoKiEH O K HoKimH OK
) =IE T bl =xIE Ty B3 ) =IE T Bl
TUFEVRUEDILEY <0.0020 1
DIV RUEDILEY <0.0002 1
ZITIVRUZOIEED <0.001 1
1,2—9HOAIaY <0.0004 1
LTy <0.020 1
TRVEEY 2—IFIAFIIL) <0.008 1
HIERE
ZEMEER
ybonre b= 0.003 1 <0.001 1
faKH05-Ib <0.002 1 <0.001 1
FETH <0.10 1
HREBIER 0.9 1 1.0 0.6 0.9 365
SR 4.0 1
1,1,1—tyhonI4ay <0.030 1
AFI—t=TFII-TIL (MTBE) <0.002 1
AMEBRIVIVENIILEES) 1.5 1
R SR5&E (TON) 1 1 3 1
BRI GYTUTES) -04 1 -0.9 1
HEREEMR 0 1
1,1—9HOAIFLY <0.0010 1
ANINADADEY AN KV EE(PFOS) RUALINATADE Y ALk EE(PFOA)
JKig (°C) 23.0 1
TURITREER
EMILFRIBRERE(BOD)
LB RERE(COD)
SRV B (50mm )L {3 FR B )
FEYE(SS)
BRI R
LER
DY)
VVEEATY
FINOAR YA R BE
£ (n/ml)
TILHVE
BEBRE
ERAAY
BT




FHB20210)FFE KEHET HKHHOKDKE(EKESESE)

[BExEH4A] [(BXEH4A] [BxEH4]
29 - 009 Z£RE 29 - 009 Z£RE 29 - 010 Z=RE
AT K [RIEET
[#Ki;H4&] 01 - 02 [&/KkZm4&] 03 - 00 [%Ki;H4&] 01 - 00
1L % K 35 BE5%KiE KIS
BEIEH [KiR&] [KiE&] [kiFE&]
LI % K 35 R i T KR B 5 #KEREHTKIE BERK
[FkDFE$E] [FRKDFELE] Rk DFEEE]
EIFFK EHFK HIKEZK
[1BFEHKE] 6,266 (m) |[1BFE#:%/KkE] 5,132 (m) |1 BEg4%KE] ()
HoKimH OK HoKiEH O K HoKimH OK
) =IE T E1% bl =xIE Ty B3 ) =IE T Ik

TUFEVRUEDILEY 0.0000 1 0.0000 1

DIV RUEDILEY 0.0000 1 0.0000 1

ZITIVRUZOIEED 0.000 1 0.000 1

1,2—9HOAIaY 0.0000 1 0.0000 1

LTy 0.000 1 0.000 1

TRVEEY 2—IFIAFIIL) 0.000 1 0.000 1

HIERE 0.00 1 0.00 1

ZELER 0.00 1 0.00 1

ybonre b= 0.000 1 0.000 1

faKH05-Ib 0.000 1 0.000 1

REE 0.00 1 0.00 1

HREBIER 0.6 1 0.7 1

SR 2.1 1 4.8 1

1,1,1—kHoonIay 0.000 1 0.000 1

HAFI—t—FFII—TIL(MTBE) 0.000 1 0.000 1

AMEGBIVH VBN LEEE) 0.6 1 0.7 1

R SR5&E (TON) 0 1 0 1

BRI GYTUTES) -1.1 1 -1.6 1

HEREEMR 0 1 0 1

1,1—9HOAIFLY 0.0000 1 0.0000 1

RIINAOADE AN EEPFOS)RUAI INAOA DI R E(PFOA) 0.000031 1 0.000014 1

KB (°C) 225 15 16.7 12 208 13.7 17.6 12

TPUEZTREER

EMILFRIBRERE(BOD)

LB RERE(COD)

LSMRUVIR I E (50mmtz )L FREE)

FEYE(SS)

BRI R

LER

DY)

VVEEATY

FINOAR YA R BE

£ (n/ml)

TILHVE

BEBRE

ERAAY

BT




FHB20210)FFE KEHET HKHHOKDKE(EKESESE)

[BEIHA] [(BEIHA] [EEEr
29 - 011 =RE 29 - 011 Z=RE 29 - 012 Z=RE
H R AHT R A HT R
[#Kkiz4&] 01 - 00 #/KkZ&] 01 - 01 [&/Kkiz4&] 01 - 00
H R AT %K% H IR AREBTE K15 INEEKIS
BEIEH kiRl [kiE4] [kiE4]
12K 12K FLDJIIKREZDINI
[R/KDFELE] [F/KDFEFE] [R/KDFESE]
HIKSK - HK K KK =K B
[BEHFRKE] 0(m) |[1BFEEKE] 0 (m) |[1BFEHHEKE] 10,617 (m)
FKEE OK HKiEH Ok #KBEOK
1) RIE Fty =%k 1) =IE iy =%k xm =IE Fiy E%
TIOFEVRUEDILEY
ISV RUEDILEY
ZYTIVRUEDNILEY
1,2—IHOnIARY
MLV
TRIVEEY (2—IFIAFIIL)
EIERE
—EbiER
yhnare k=L
fakons-)b
[T
RRIER 1.0 0.6 038 12
e

1,1,1—tyhonI4ay
HAFI—t—FFII—TIL(MTBE)

AMEBRIVIVENIILEES)
R SR5&E (TON)
BEMEGYT7ER)
HEREME

1,1—9HOAIFLY

ANINADADEY AN KV EE(PFOS) RUALINATADE Y ALk EE(PFOA)
JKiE (°C)

TURITREER
EMILFRIBRERE(BOD)

LB RERE(COD)

ESMRUVIE I BE(S0mm )L {5 FABF)
FBEMESS)

REEERMRE

£ER

EUM

VVEEATY
FUNOARVERRE
£ (n/ml)
TILHVE
BEEER

ERAAY
BMETAER




FHB20210)FFE KEHET HKHHOKDKE(EKESESE)

[EEE e [(BEIHA] [EEEr
29 - 013 =RE 29 - 013 Z=RE 29 - 014 Z=RE
BT BT BT EFE
[#kiH4] 01 - 00 [%7kiH4&] 02 - 00 [#7kiH4] 01 - 00
F15K5 =HiFKIG F25Ki5
BEIEH [KiE4] [KiR4] [KiR4]

T K #h Tk FHF
[R/KDFELE] [F/KDFEFE] [R/KDFESE]
EHFK BAFK KK
[ BF#8KE] (m) |[1BFE5EKE] (m) |[1BFE5KE] 0(m)
FKEE OK HKiEH Ok #KBEOK
1) RIE Fty =%k 1) =IE iy =%k xm =IE Fiy BE

TIOFEVRUEDILEY

ISV RUEDILEY

ZYTIVRUEDNILEY

1,2—IHOnIARY

MLV

TRIVEEY (2—IFIAFIIL)

FRRH

—EibER

yhnare k=L

fakons-)b

[T

BERER

e

1,1,1—tyhonI4ay
HAFI—t—FFII—TIL(MTBE)

AMEBRIVIVENIILEES)
R SR5&E (TON)
BEMEGYT7ER)
HEREME

1,1—9HOAIFLY

ANINADADEY AN KV EE(PFOS) RUALINATADE Y ALk EE(PFOA)
JKiE (°C)

TURITREER
EMILFRIBRERE(BOD)

LB RERE(COD)

ESMRUVIE I BE(S0mm )L {5 FABF)
FBEMESS)

REEERMRE

£ER

EUM

VVEEATY
FUNOARVERRE
£ (n/ml)
TILHVE
BEEER

ERAAY
BMETAER




FHB20210)FFE KEHET HKHHOKDKE(EKESESE)

[EEFH4£] [(EEFAA] [EEFHA4A]
29 - 015 =RE 29 - 015 Z=RE 29 - 015 Z=RE
BHEh BT BT
[#Kkiz4&] 01 - 00 &/KkZm&] 02 - 00 [#/Kkiz4&] 03 - 00
FrE% KIS EREKEG ILEY S
BEIEH [kiE4a] [kiE4] [kiE4]
KFIKZR (FEN) RFKZR (KA RFIKFR (BB
[FEKDFELE] [RKDFELE] [EKDFELE]
=K (BFR) -HKkZK FRAK(BR) -FRFPK-MBAK-E | RFKER) -HKZK
k=K
[1AFHHRKE] 6,549 (M) |[1B % KE] 2,783 (M) |[1 B 5 KE] 2,691 (m)
HKIEH O K KIS H O K HoKIEH O K
1) =& FEiy [E1% 1) =IE T [51%4% xm =& iy Bl
FUFEVRUZDILEN
YISV RUZOILEY
oL RUZDILEY
1,2—9h0OaIsy
MLV
J5)LEEY 2—IFILAFIIL)
BEIERE
ZELER
IhOn7E b= ML
faKH05-Ib
RRIER 1.1 06 038 12 0.7 05 0.6 12 0.7 0.4 05 12
W R B

1,1,1—tyhonI4ay
HAFI—t—FFII—TIL(MTBE)

AMEBRIVIVENIILEES)
R SR5&E (TON)
BEMEGYT7ER)
HEREME

1,1—9HOAIFLY

ANINADADEY AN KV EE(PFOS) RUALINATADE Y ALk EE(PFOA)
JKiE (°C)

TURITREER
EMILFRIBRERE(BOD)

LB RERE(COD)

ESMRUVIE I BE(S0mm )L {5 FABF)
FBEMESS)

REEERMRE

£ER

EUM

VVEEATY
FUNOARVERRE
£ (n/ml)
TILHVE
BEEER

ERAAY
BMETAER




FHB20210)FFE KEHET HKHHOKDKE(EKESESE)

[EEE e [(BEIHA] [EEEr
29 - 015 =RE 29 - 016 Z=RE 29 - 017 Z=RE
BHEh KieHT TrTET
[#ki54] 04 - 00 [#7ki54&] 01 - 00 [#7kiH4] 01 - 00
TR 2K HrEgKE THHETE KIS
BEIEH [KiE4] [KiR4] [KiR4]

#IKFZK k&K N fNIKR (FHN)
[R/KDFELE] [F/KDFEFE] [R/KDFESE]
KK ESi% 4=F) KR (B
[ BF#8KE] (m) |[1BFE5EKE] 8,030 (m) |[1BFEg4%KE] 2,542 (M)
FKEE OK HKiEH Ok #KBEOK
1) RIE Fty =%k 1) =IE iy =%k xm =IE Fiy BE

TIOFEVRUEDILEY

ISV RUEDILEY

ZYTIVRUEDNILEY

1,2—IHOnIARY

MLV

TRIVEEY (2—IFIAFIIL)

FRRH

—EibER

yhnare k=L

fakons-)b

[T

BERER

e

1,1,1—tyhonI4ay
HAFI—t—FFII—TIL(MTBE)

AMEBRIVIVENIILEES)
R SR5&E (TON)
BEMEGYT7ER)
HEREME

1,1—9HOAIFLY

ANINADADEY AN KV EE(PFOS) RUALINATADE Y ALk EE(PFOA)
JKiE (°C)

TURITREER
EMILFRIBRERE(BOD)

LB RERE(COD)

ESMRUVIE I BE(S0mm )L {5 FABF)
FBEMESS)

REEERMRE

£ER

EUM

VVEEATY
FUNOARVERRE
£ (n/ml)
TILHVE
BEEER

ERAAY
BMETAER




FHB20210)FFE KEHET HKHHOKDKE(EKESESE)

[BExEH4A] [(BXEH4A] [BxEH4]
29 - 019 XRE 29 - 020 %RE 29 - 021 ZHRR
==fT = 4ERET EEEET
[#Kkiz4&] 01 - 00 &/KkZm4&] 01 - 00 [#/Kkiz&] 04 - 01
=EBT%KG E&rE&EKE Bkszkith
BEIEH [KiR&] [KiE&] [kiFE&]
K%k 2ok Rk 2ok k2K
[FR/kDFEE] [FRkDiELE] [FR/kNDFELE]
# KK #IKZK HIKEZK
[1AFHHRKE] 2,016 (m) |[1BFE#%KE] (M) [[1BF9:%KE] (m)
HoKimH OK HoKiEH O K HoKimH OK
) =IE T E1% bl =xIE Ty B3 ) =IE T Ik

TUFEVRUEDILEY

DIV RUEDIEEY

29TV RUZDIEEH 0.001 0.001 0.001 2

1,2—9HOAIaY 0.0004  0.0004 0.0004 2

LTy

TRVEEY 2—IFIAFIIL) 0.018 0.005 0.012 2

HIERE

ZEEiER

ybonre b= 0.003 0.002 0.003 2

faKH05-Ib 0.007 0.003 0.005 2

HREBIER 0.6 0.2 0.4 12

SR 7.1 3.0 5.4 2

1,1,1—tyhonI4ay

HAFI—t—FFII—TIL(MTBE) 0.001 0.001 0.001 2

AMEBRIVIVENIILEES)

R SR5&E (TON)

BEMEGYT7ER)

HEREEMR 16 0 8 2

1,1—9HOAIFLY 00010  0.0010 0.0010 2

ANINADADEY AN KV EE(PFOS) RUALINATADE Y ALk EE(PFOA)

JKiE (°C)

TURITREER

EMILFRIBRERE(BOD)

LB RERE(COD)

LSMRUVIR I E (50mmtz )L FREE)

FEYE(SS)

BRI R

LER

DY)

VVEEATY

FINOAR YA R BE

£ (n/ml)

TILHVE

BEBRE

ERAAY

BT




FHB20210)FFE KEHET HKHHOKDKE(EKESESE)

[EEE e [(BEIHA] [EEEr
29 - 022 Z=RE 29 - 023 Z=RE 29 - 024 E=RE
FREM = B ET & ET
[#/Ki54] 03 - 00 [#7ki54&] 01 - 00 [#7kiH4] 01 - 00
BRI sk 2kt S HETE132Ki5 TS BTE 2% KI5
BEIEH [KiE4] [KiR4] [KiR4]

B k5zK ZRIBEKE BK-RHP
[R/KDFELE] [F/KDFEFE] [R/KDFESE]
#IKZK KK E’HRAK
[BEHFRKE] 6,600 (M) |[1BFH%KE] (m) |[1BFE5KE] 0(m)
FKEE OK HKiEH Ok #KBEOK
1) RIE Tty =%k 5= =IE iy =%k ] =IE Tty BE

TIOFEVRUEDILEY

ISV RUEDILEY

ZYTIVRUEDNILEY

1,2—IHOnIARY

MLV

TRIVEEY (2—IFIAFIIL)

FRRH

—EibER

yhnare k=L

fakons-)b

[T

BERER

e

1,1,1—tyhonI4ay
HAFI—t—FFII—TIL(MTBE)

AMEBRIVIVENIILEES)
R SR5&E (TON)
BEMEGYT7ER)
HEREME

1,1—9HOAIFLY

ANINADADEY AN KV EE(PFOS) RUALINATADE Y ALk EE(PFOA)
JKiE (°C)

TURITREER
EMILFRIBRERE(BOD)

LB RERE(COD)

ESMRUVIE I BE(S0mm )L {5 FABF)
FBEMESS)

REEERMRE

£ER

EUM

VVEEATY
FUNOARVERRE
£ (n/ml)
TILHVE
BEEER

ERAAY
BMETAER




FHB20210)FFE KEHET HKHHOKDKE(EKESESE)

[EEE e [EEEI I [EEE
29 - 025 Z=RE 29 - 026 Z=RE 29 - 026 Z=RE
Fem Efadi =3
[#kiH4] 01 - 00 [#7ki54&] 01 - 00 [#kiH4] 02 - 00
Z=REEKE BB % KI5 A% KE
BEIEH [kig4] [KiE4] [kiE4]
HEII SEI. EAII HlRe. 58
[R/KDFELE] [F/KDFEFE] [R/KDFESE]
#IKZK KK (EBER) -RRKER K (B -RFKER
[ BF#8KE] (m) |[1BFE5EKE] 1,513 (m) |[1BFEH%KE] 254 (m)
FKEE OK HKiEH Ok #KBEOK
=258 =& iy [E1% 1) =IE iy [51%4% =258 =& Fiy Bk
TOFEVRUZDILED
ISV RUEDILEY
Z9FIVRUZDIEEY
1,2—IHOnIARY
MLIY
TRIVEEY (2—IFIAFIIL)
FRRH
—EibER
yhnare k=L
fakons-)b
FETS
BEEE
]

1,1,1—tyhonI4ay
HAFI—t—FFII—TIL(MTBE)

AMEBRIVIVENIILEES)
R SR5&E (TON)
BEMEGYT7ER)
HEREME

1,1—9HOAIFLY

ANINADADEY AN KV EE(PFOS) RUALINATADE Y ALk EE(PFOA)
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